NWT 4 Linux & Windows 24 Mai 2010, 23:40

Startfrequenz: 0.000000 MHz; Endfrequenz: 60.000000 MHz; Schrittweite: 40.027 kHz
Messpunkte: 1500; Zwischenzeit: 0 uSek

‘MHz 20.0 40.0
10.0 30.0 50.0

10 10
dB dB

0 T I8 (. P e ullbe s e cvese doellle B s e e s e v, M s 0

3
4

10 5 10
20 20
30 30
A0 40
50 50
60 )
70 70

¥-Raster: 10.0 MHz

3x Warth 74270037; L=87uH; N=4+45@94394Rditaktunterdrickung
Kanall: -12.15dB

Kursorl: e
1.841227 MHz Kanal 1

Kanall: -2.09dB max:0.00dB 0.000000MHz
--------------------- min:-75.97dB 0.000000MHz
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7.044696 MHz
Kanall: -2.47dB
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14.049366 MHz
Kanall: -4.37dB
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28.899266 MHz
Kanall: -7.98dB
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